Materials

1400 kg

-rmal weekly requirement
aximum weekly requirement 2000 kg

| aximum weekly requirement - 1000kg - Z
e to get fresh supplies 1 to 3 weeks
3,000 kg

~dering quantity

~--m the above data, determine:
& Re-order level. ’ :
. Maximum level.

- Minimum level.

= Maximum consumption x Maximum time

=2000 x 3 = 6000 kg.
= (Re-order level + Re
time)
= (6000 + 3000) - (
— Re-order level = (N
= 6000 — (1400 x 2) = 3200 kg.
: 2
(Average time=""5

. Re-order level

. \aximum level
000 x 1) = 8000 kg.

~ “finimum level

=2 weeks.)

~=oBLEM][02]

~ w0 components, A and B are used as follows :

| “yculate for each component:
2 z-order level '
\inimum level.
\iaximum level.
4 verage stock level.
= order level = Maximum usage x Maximum time.
A =300x 6 = 1800 units
B =300 x4 = 1200 units
= Re-order level — (Normal usage
3 A = 1,800 — (200 % 5) = 800 units.
- B =1,200-(200 % 3) = 600 units.

\tinimuim level

Maximu;n level
' A=(1,800+ 1200) — (100

B =‘(1,200 +2000) — (100 % 2

-order quantity) — (Minimum consumption X Minimum

ormal consumption X Avera

. 200 per week each.

. ormal usage :
© mimum usage 100 per week each.
puimum usage 300 per week each.
\.order quantity - A 1,200 Units
== : B : 2,000 Units
eder period : A - 4 — 6 weeks.
B :2 - 4 weeks.

«Normal time)

= (Re-order level + Re-order quantityj —(Mi
x 4) = 2600 Units
)= 3000 Units.
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nimum usage X Minimum time)




